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1. State whether the following statements are true
or false : IXIO—IO

(a) Communication skill makes dlﬂ‘erence in
success and failure. - '

(b) Any individual or organization can exist and
function without oral communication.

(¢) Event management tests one's ability to work:
under pressure.

(d) A written message should contain unified
sentences and unified paragraphs.
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(e) Office orders are authoritative directions that

always flow upward.

(D An interview is not a purposeful conversation
.between two parties.

(g) Talking _and eloquence are not the same.

(h) Balance sheet portrays the finanacial picture
of a business at only one particular point of
time.

(i) Quorum means the maximum number of
members present in order to constitute a vahd
meeting.

(i) One should know one's audience while
planning a message.

Write short notes on émy five of the following :
2x5=10-

(a) Audience analysis
(b) Group discussion
(c) Press notes writing
(d) Memo writing
(e) You-Altidule
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- (f) Negotiation and Conﬂiét Resolution Skills

(® Business etiquettes
(h) English as a global language
(i) Circular letters

(j) Sales letters.
Or

" Answer any two of the folldwing questions :

5x2=10

(a) You are Mr. X / Ms. Y. You want to donate
something to an old age home. Write out the
conversation between you and the in-charge
of the old age home. :

(b) ,You are a receptlomst in a reputed hotel. A

customer wishes to lodge a complaint about

the service of your hotel to your manager. -

Write out the conversation that ensures
between you and the customer. -

(c) You are Rita / Ritesh. You bought a dress
from a reputed mall. You want to exchange
the dress as it didn't fit you. Write out the
conversation that takes place between you
and the sales boy/girl.
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3. Answer the following questions : . | (iv) Who taught you English ? (Change into

i oic
(a) Fill in the blanks with appropnate prepo- | passive voice)

sitions : 1x5=5 (v) Rahul is the most hardworking workef.
(i) She came ' March. | (Change into comparative degree)
. (ii) I get out of class noon. | (c) Give the synonyms for : . -;-XIO=5 o
(iii) the moment, I'm doing an | () Abhor - (i) Abundance
exercise. : - ' ‘ : :
_ (iii) Accountable (iv) Brisk
@iv) I am working my birthday. ' ' .
(v) Bogus (vi) Catalogue
‘(v) They want to create a new 1dent1ty L e L
themselves. (vii) Crafty | (viii) Diminish
. (ix) Incentive (x) Judicious.

(b) Change the followmg sentences as directed : : . . '
| 1x5=5 (d) Give the meanings of the following foreign
(i) We must work very hard to achieve the words and phrases commonly used in

target. (Change into a compound sen- ‘ business. (Any five) : Ix5=

tence). - . , | (i adhoc (i) Caveat emptor
(ii) Ramesh said that he was pleased to be | . (iii) Cui bono (iv) de facts

there that morning. (Change into direct (V) en route (vi) inter alia

speech). : . A

- *(vii) malafide (viii) modus operandi

(iii) Do we mean to work in an organisation ‘| . L | S

just for money ? (Change into assertive). (ix) nota bene x) pro rata.

24 (Sem3) CFE-I  (4) | | | 24Sem3)CFEN - (5) [Tum over




4. Answer any two of the following :  10x2=20 ‘

(a) Write a request letter asking quotations from 'K

the manufacturer of watches.

- (b) Write a letter to the Manager of a Bank

' asking him to extend the date of repayment

of your loan citing reasons for your inability
to-pay in time. |

(c) Write a letter of complaint to the Manager
of ABC 'Company, Kolkata for damage of
goods in transit. ‘

(d) XYZ Ltd. have appointed a committee to
investigate the causes of decline in sales of
their products. Draft the report.

5. Answer any two of the following :  10x2=20

(a) What is the importance of modern forms of
communication in our life-?

b) Mention the guidelines and characteristics of

successful email messages.

2/4(Sem-3) CFE-II ©

(c) ‘WhatsApp’ and ‘Twitter’ uscrs can foster
- business in a subtle way. Elaborate.
() Write short notes on any two : 5%x2=10
| (i) Videoconferencing
.. (i) FAX
(iii) LAN.
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1. Answer the following as directed :

A9/34
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2018
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Full Marks : 80
Time : 3 hours

The ﬁéures in the margin indicate full marks
Jor the questions

1x10=10
(a) Waiting for Godot is an play.
(Fill in the blank)

(b) Where are Estrégon and Vladimir
supposed to meet Godot?

() How does Antonio treat Shylock at the
Rialto?

(d) What does Bassanio offer the ydung :
law clerk who saves Antonio?

() To whom does Dr. Faustus give his
soul?

() What is the first sin among the Seven
Deadly Sins?

(g In which month does the play, Look
Back in Anger open?
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2. Answer the following in brief :

(@

()

(c)
(@)

- (e)

3. Answer any four of the following :

(@)
(b)

(©

A9/34

(2)

The name of the wife of Jimmy Porter is
Helena/Alison.

(Choose the correct option)
What is the name of Candida’s husband?
Who is Proserpine in the play, Candida?

2x5=10

“In a hundred years, we shall be the
same age.”

Who is the speaker? What does he mean
by the above line?

What do the animal images in Look
Back in Anger suggest?

What does the gold casket contain?

How do Pozzo and Lucky appear in their
first entry?

Who are the two friends of Faustus who
teach him the art of black magic?

5x4=20
Discuss Doctor Faustus as a tragedy. |

Write a note on the significance of the
chorus in Doctor Faustus.

Make an assessment of the character of
Marchbanks.

( Continued )

(@)

(e)

4. Answer any four of the following :

(@)

(b)

(c)

A9/34

(3)

Comment briefly on the theme of
‘waiting’ in Waiting for Godot.

How does the subplot of Lorenzo-
Jessica in the play, The Merchant of
Venice support the main plot both
thematically and structurally? Give a
reasoned answer.

Assess briefly the character of CIiff
Lewis in Look Back in Anger.

10x4=40
Discuss The Merchant of Venice as a
typical Shakespearean comedy.

| or

Give a character sketch of Shylock.

Critically comment on the Vladimir-
Estragon relationship. What do you
think they symbolize?

Or

“Beckett subtitled- his play, Waiting for
Godot as a tragi-comedy.” How far is it

appropriate to describe the play thus?

Critically comment on' the relationship
between Jimmy and Alison in Look Back
in Anger. '

( Turn Over )
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Or : 2018
Discuss Look Back in Anger as a play of ]
protest against contemporary English '
society in post-war England.  * ' HINDI

(d) Discuss Candida as a play of ideas. ) ( Elective )
or ( Hindi Katha Sahitya )
Describe the auction scene in Candida. -
How does it reveal the traits of the main : Full Marks : 80
characters?

Time : 3 hours
(e) Sketch the character of Dr. Faustus as

a typical product of the Renaissance. - The figures in the margin indicate full marks
for the questions
Discuss Doctor Faustus as an allegory. 1. e ¥ v AR 10o10
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(1) e 5 arde o s & v 6 S 1 @B R T IS Bes A yx30=30
D - o (F) SN TOPIROR T T ?

(}) =R’ @M =fRE 2

() “eomes’ WA 2

(7) wIfRAET Y=< A & =ifeE 2

() @aR om < or A ¥ e 2

(®) WWW@H&TﬁWW
FffE 2

'| (%) wIEW TR SHa AW & SifRe 2

(®) T (AL SZI 2 wfRe 2
A9/2 ( Turn Over)
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A9/2

L2

@) Rehir oo Feres ¥ sl SRR 2

(@) REAF AR o ool AR Fel 9o

“f¥fEr -

R YT ey famn

IX¢=>a

(ﬁ)ﬁwmmw&ﬁlﬂwm«w

“FIfers v’ G I5 PR ?
(¥) =Ry 9 ol iR o151 C2Re1 2

() wEm FRw Rem e g @@ SRE

R qw W & 52

(0) f0RR TP S F(ITT 5F I I

IERTA (TET S5IET CalfRa ?

(8) m Qe TfeAle oS S5ICS  CIRI™

Mecol 67 oL 7 4278 2

o1 R e 516Gt epoe g 911 ¢

() =P ows e ol &2

€¢x8=0Q

(1) fm v AbeTe o W R wefle

=R?
(o) TR '3 TR @R o ?

{ Continued )

=l
Y

(%)

(¥)

81 (9)

()

¢! (I)

()

vl (F)

(%)

A9/2

(3)

“firr wifer, 36 =T W1, TR W A &
3 IR, [WYPR Oriee sea” @ =ew
o3 59 '3 qa1 2= 2

‘T M ACFTCS TSP (2 TR, T°TS AT
e wFe: Wl I R ARI amest
AN ISR I, Fu corea e 2

‘Fifery v’ WHY ML TR A63-2ifEer
Roma w411

[T

‘Fitm T’ oo Agww 9uRs 3w
CPCATCI AP NIZCR, SICEASAT F47 |

“qIeR FR’ AT IIRASIIR S SO
RER ToeRTER Fm fe =g, Row w0 1

A1

SRR TR’ AoFR R TR SRAoR
9e PR iR 41} <6 SCeATDAT SISIRCH |

v Ao B pofiedim IR 3w 9w
TR AR «fS ST R 4

211

TR B TRAN W AN @ I v
TR IR ORI @R 24P FRCE,
TG 34 |

Yo

o

S0

S0

S0

S0
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U1 (F) eFRRIT 6 B ‘9w @EAER e
A6 afb 5 ST ST | o0

(<)

A9—70*/2

(4)

G
‘9T (@ISR e’ [bfRT o sRadR

TS AT, [Tl S PN AN
(TR 2P IR, SICAAT 4T | Yo

* k k

3 (Sem-3) ASM MIL

3 (Sem-3) HIN MIL
2018
~HINDI
( Modern Indian Language )
( Hindi Nibandha Sahitya ) |

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks

for the questions

1. e ASw AP : 1x10=10

(%)

‘Fifem # wRa' Fey w1 Saw BN A7

(@) =oFEw wg R g1 % Peuer &7

()
(=)
(®)
@)
(®)
(=)
)
G

A9/17

wiforerd # &7

T hl wew vafu w®n R7

&g g et T 7 "
m‘%ﬂﬁsﬁmm%ﬂm%?

qeFE W Fhe ufE F dues 97

‘2 ok wa' frgeht T R7

frm frw & ot i & R =i R T 37

fFam wEm = ot sl F A Al F wfofdg
form ®7 '

( Tum Over )



2. frfafaa =t & 1fy dftw sw iRt - 2x5=10

(2)

'(m).aﬂ%ﬂmaimammmfam%?
(@) o3 i it P Rt B 7

() “mgﬁimqﬁﬁwm%”—wﬂ?
e $hifsg)

(@) i et @ s % T R
(5) v 7w A 2 W fdva R

. iR & & Rl R S % SR AR :  5x4=20
(F) W w1 32 o vidE wE Al

(@) “wh ur gEens Wt R, FEERE
W —smm we A

() wiRer o @ w i @ Foen & @ 2
(9) OGS I g W F W 0 T F@ Y7

(3)

(@) RawaE fm & of ol wn wd f R

P e w3 wwem 9 &% ww e
T

g
TER 9N F 7 T A 5 § )

. ‘uifted’ T Py § dEw Y ‘ot =1 == #t
ey zafan R7 10

g

‘FifeeE # wRa' T FEY § wraad f yeie
R -wnie g W few dEws Y R wer
fopa 27

. frefafea # @ fedft v g w e ol . 10

(F) WHER-9A
(@) e B iR a9
(M) duecht = wiEFis TS

. (@) s i SEs
(¥) wwaar iR fafar & Fa1 @ 27
. : * % K
- 4, GyEN =ren iy - | 10x2=20 |
(%) %@ 7gA F = w0 I qo R
T '
# g =gl W[ e 3R $© s oft gm)
A9/17 ( Continued ) | A9—4000/17 3 (Sem-3) HIN MIL




3 (Sem-3) ALT ENG

2018

. ALTERNATIVE ENGLISH

Full Marks : 80
Time : 3 hoin's

The figures in the margin indicate full marks

Jfor the questions

1. Answer any ten of the following questions :

(a)

(b)
c)
(d)
(e)

0
(9)

M

A9/35

1x10=10 -

- What is the name of the Assistant

Station Master at Leharia, as mentioned
in Shanti? |

Who is the author of The Gold Bug ?
To whom does Tom profess his love?
Who is Tom’s best friend?

In which state and location does William
Legrand reside?

Who is Piggy in Lord of the Flies?

What does Jack plan to steal from Ralph
and Piggy? '

How many daughters does Mr. Bennet
have?

(TdmOver)



(2)‘ ( 3)

() Who is Lady Catherine de Bourgh? (c) Littluns (Lord of the Flies)
() Whose eyes are €ine’ according to (d) Injun Joe (The Adventures of Tom
Darcy? . v Sawyer)
(k) Who is the author of Shanti? - ' (e} Mrs. Bennet (Pride and Prejudice)
2. Answer any five of the following questions : () William Legrand (The Gold Bug)
2x5=10 (g) George Wickham (Pride and Prejudice)
(@) Why was Piggy always an outsider to v (h) The title of The Gold Bug—its
Ralph, Jack, Maurice and most of the ; significance
other older boys? ‘
(b) Was Ralph an effective leader? 4. Answer any four of the following questions :
| - 10x4=40
() What did Aunt Polly want Tom to do on j ) ., ..
a Sunday? ; (a) Discuss Twain’s use of superstition
: ' throughout the novel, The Adventures of
(d) Who is Tom Sawyer? ; . Tom Sawyer and show how these

(e) Why did everyone like Mr. Bingley? superstitions affect the various actions.

() What human qualities does Aunt Polly

exhibit in her behaviour toward Tom
in the novel, The Adventures of Tom

() How does Mr. Collins behave when
Elizabeth turns down his offer?

(99 Who is Subramaniam? | Sawyer ?
3. Write short notes on any four of the @ ?S;ug; tt:: ;?;Zbds used by Golding in
following : 5x4=20 ora o .
. ' . (d) State one possible theme of the novel,
(@) Simon (Lord of the Flies) Lord of the Flies and support your
(b) Joe Harper (The Adventures of Tom position.
Sawyer)

A9/35 ( Continued ) A9/35 ( Turn Over')




(4)

() Discuss Poe’s The Gold Bug as a

mystery tale.
Analyze the characters of The Gold Bug.
(g

Discuss Jane Austen’s portrayal of the
women in the novel, Pride and Prejudice.

Comment on the signiﬁcancé of the
double in Shanti.

)

() Write a note on the appropriateness or
otherwise of the title of Jane Austen’s

novel, Pride and. Prejudice.

A9—10000/35 3 (Sem-3) ALT ENG

3 (Sem-3) BOD MIL
2018

" BODO
( Modern Indian Language )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer in Bodo

1. e dhwre T A T Rt R A

_ 1x10=10

(®) ‘“Sufi e s@'@’’ wyRE s@ ™
gttt et wee?

(@) Rif Rresmere aeit gRe dma g e

' RCiLIEE

(M ‘T gremsR Rifeh’ waaEE waemiiiEn
g 'et?

(1) wetmE gram @ram fa e smo
A W RE B ATty s
T WG 817

(z) e wuEfierR e ae Wftm @@
e RRE @ik S 87

A9/94 ( Turmm Over )



- A9/94

(2)

(%) forsht s weia drrearemn aeen SRiEA?

(®) @ deEEst /WA AR NaerEr @
ge B gaIt

(<) Re-Rfefert afsn 1R e R
Wi SR R eAE?

@) | foEen «® vEEd SEREEn 0
TR REmafy’ tauraEe w@'el?

(F) T femE Rl /e g 9e
UARE  FEENS OBt W RSt
U@ AR ?

9% W@wﬁ%ﬂgﬁrﬁﬁm@gmﬁﬁﬂ 2x5=10
| (F) swemwf fmm-fef ger ama?

(@) Animist 7 g7

(M & ot e taaEE il
- et fm @l aam W
AT gaal? ’

(9) WomrE N 'TE WR A A ARTEEA?

() « Warmaf srRa-sm A g R’w

( Continued )

| A9/94

(3)

| 3. o iR STaRe-arn Wedf R R 5x4=20

(F) VRS A gORAE TR AR
o W A WA gAEEE kel ot
(@) wRa WRet T FFE IS pER wE
=

(M wWerR Rl - m A i
ga o

(%) 9w ForemmE @ W AAER W EE A Rt

: fer) _

(¥) greg Sh@ATisen | AT STYGR it €
B gRET Ry »

(@) TR AT TERd YRA R W e
TRt faw

4. ‘Yt et ga'swn”’ tauEE Wosd T _
QYrE BrEEe d@a fal 10
Tt .
“GaEl AU’ EuEE On e aEnied
FGiE AR /R : 10
5. ‘@ giomh fafee”’ wmuemE sOR aR-m
dcitrs 9 gEE W S gedt see o)l 10
Rl _
‘ArentY s’ TEATEE AGAEE W W @I A
QT S@iel s /o 10
{ Turn Over )



(4)

6. §@E ¥R W W (Divide and Rule) Wi

e gt BiemwEr R
L&

BREE AR A g aeii e wwee wem

GreH! gt S@e few
7. 19 grasE gEEl TR AR arEE A/ i

T & e ol 10
Tar
T OEFER GEE R AeEEl =R g am
FIRA AR AQa R 10
* &k %
A9—7000/94 3 (Sem-3) BOD MIL 9/15
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3 (Sem-3) NEP MIL
2018

NEPALI
( Modern Indian Language )

Full Marks : 80 °

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions .

. 1x10=10
(%) ‘mﬂﬁ@ﬂaaﬂ’mmwaﬁgi?

(@) T FAH YA TEF ARR R H-wh
Aaq TISA?

M) m fm f T R B

(@) ‘e R Foee-m e R
T % @ W 7 :

(®) “fua’ -+ 3 W F A?

(@) wvam e wE wm e

(6) v e ¥ W 5

(F) <oy s w=1 FRA TR Rr?

( Turn Over )
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2. HHTT IR AEFRY

3. T WR ywe SW R : 5x4<]

A9/15

(2)
() W-aﬁaﬁfé@ﬁm

(W)Wmaﬁﬂﬁﬂwﬁé@aﬁm
M AR 4

(%) wrn Fuh S RE? g e SR gt

(@) TH Rersd fm YuE S TR §oIE

() ATHIEHT-IFAR TR T D7

(@) ‘R’ 37 TR W D7 TWQ F ad T@
7

(3) ¥ S eF - PRl o7

(F) ‘Star HUER TRHH IR THEY)

(@) ‘m’mmmwa‘im%-
FH) WEE B7? ]

(1) N WRAT FFEE HE) RER 87

(=) “mﬁmﬁmwwqﬁ@ﬂ’zzﬁv
Sfrnl arcd e '

() W W UFS HAH e oegerd | |
@) “mfm wa & @ ot F—ws acd |
e

( Continue||

4. T UR UEH IR AEeY, ¢ .
(F) FUAGR TEEEG TR HURRRA-ER S

2><5=:-£

A9—300/15

(3)

TR

(@) ‘m i Y FuR R g

(1) ‘Tm W= WER : T fER P s FER
TgAS Ve WUSR oA fawam  F-sear
goEes fouwt 17

(@) owiver IJwewm Feuew wmiy ol
REGEL :

(®) mwmwmm ,
JATFER BARA e |

@) ‘e se fewmm duee new wR
F-F1 R g Mew 57

(@) ‘TN’ FAW FTES G F-www gwom
Wgd TRURI T? FUAWEH  NURA T
TR

(%) ﬁvwmmmﬁmmm-aﬁm

¢ AUt ferg- aiftem @ wmm W
- FEEHH AT T |

* % %k

10x4=40

3 (Sem-3) NEP MIL
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BENGALI
( Modern Indian Language )

Full Mqus : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

s\ P oA SR G MS : - 3x30=30
(3) ‘a2t B 3 o’ m%ﬁﬁrw
' mﬂ—ﬁwﬁm

(4) ““9T O, TW (R 9F P TR (R, «F
e ©s 1”7’ aw‘m’mmc«?&m
TR ?

(1) o, qﬁwqwmﬁﬁsﬁamﬁm
AR’ ‘TR BT’ T ?

(]) ‘&, ST 2, ﬁ@:@aww
o7 Pieg e e @ @@ oFW IR
e ST e o 2 -

(8) ““wom! OR oA MemE conbee R e
TG CIFTCH “AoN8 = (1”7 T (T2

A9/69 ( Turn Qver)
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2

(2)

(5) =y, Wwﬁmﬂmﬁﬁm Sone
ml”

(e o )
(%) AreRA T Reie ¥ Sorm ficafie 2
(W) FCII ASIRIR ARGIRER 7 $b 2
(J) T PR ACHA AN ?
(@) ererificeR from am §2

TFee Teg s §x¢=>o€ ’
(®) o, PR ICE SRR <912 B & A o

Waﬂ#ﬁ@%%ﬁm?”ﬁ?ﬂ@i? o= s
QT JCEARCAT ?

() “‘e orRFf¥, <} SR (oW wwE W 1 T,
TP (A HGIE IO oMl [ SANE JoA
G IFN (O I@ O W AR 4%
TFO™ IR? AR’ IS GITH  INT
QRRITCAT ZCR ?

(M) “or cof Tq, GT =IO B 9T 93 77 1”0 G
‘MO TR AN R 2

Q) ernfre Smfters Pigmw e SRS fica
T TSP TS FCAfRCAT 2

() ‘= g W—cR St oy @ wem
 FRAC ARAPI—OR I YW W& ez 1
G (P SIS’ -7 I T TR ? IS (T 2

‘ A9/69 ' ( Continued)

(3)
o %’e&cmﬁm«z%éumiﬁm
Teg wis : . . ¢x8=0
TR

(F) ‘ez & @ ol aTiad I[N sRab
ool Resme e

(}) T ST (AT GeIoler IeER [ Sy =2 Gy
B = oo 27 ITR @B WRR vfﬁzaﬁ-z@'
éﬁ‘ﬂ—!@r’a@twfﬁmqmu

(%) ‘a@i,ﬁs @ el o SRR fie
TR AL AT |

. e
.(tr) ‘o R =R W, @R Wi R ze

GEAR—SE GIRA T AR TP TR
SICATSAT A | _

(®) S T AT TRANS (AT “(f57 78 |

(5) AT AN IS ¢ . .
‘IR BITEE TR FAS (1Y TAH !
CRICOIRT T A 6T 17
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81 ‘a’mmiﬁm@“w’e\amzﬁm
Teg WS :
To%
(F) ‘a2 [ @ AT AT/ GFMCE IRHA
SRE (@ R F0B Srher o R e |
() ‘T IpweR ‘gz & 3@ steer
4TS TARA T4 ey =y R ARy @
il coem e SR a3 cifdvas
AIfre =gaee 1 Sfea cfese Rem w1
(o) DR Az Ao IR AW R ‘a3t [
3ce1 Serer’y LTS [RoE™ ¢ |

()] ‘mﬁsmw’amﬁmmﬁm
AL

e

(8) ‘omfve’ W5 deriier sRafb RemET s

(5) ‘amfe’ AGeE FRACTT AT THR SCAGA
FCA | -

(®) “Tmfvs, Rel, @eg—TFeiR CF 8 *K
iR =i 1”? ‘emafve’ W5 AR Iem
G I | o

(%) ‘Amfe’ Fioces SICT MEIFH AR 8 OF
SRR @ Sy g weml @R
eIt Resa e '

* kK

A9—5000/69

>o0x8=80

3 (Sem-3) BEN MIL |

|

|

3 (Sem-3) PSC
2018

POLITICAL SCIENCE
( General )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
: for the questions

Answer either in English or in Assamese

OPTION—I
( Politics in India—I )

1. Answer the following as directed :
RotrpR were e Tes for -

(@) Who was the Chairman of the Drafting
Committee of the Constitution?

TR 357 A oS e R

() Who was the first President of Indian
National Congress?

SO HOR FLIRT AN oS W ifeE 2

1x10=10

A9/46 ( Turn Over )



(2) (3)

() Who is the author of the book, () The fundamental duties of the Indian
An Introduction to the Indian Constitution? ’ Citizen were added to the Constitution by
An Introduction to the Indian Constitution SREW TMRF (AT FEPR KRS Sege
ARITY (T (I 2 £
) Morris J () 42nd Amendment
(i) orris Jones : 83N 4R SRS
iy | (i) 44th Amendment
(i) D. D. Basu ! 889N YRR WRICS
fe. fe. Rk : ( Choose the correct answer )
(i) M. V. Pylee (% Teh A Tfrear )
q¥. 3. «mfa B ~ -
i (g) Indian Constitution reserves e
( Choose the correct answer ) ; residuary power to the
(o Soehr e Sfrear ) SRR TR SRR TASPRR Sl TR
(ij Union
TS
(d) When did the Constitution of India came .
into force? (i) States
SR IR FAR o IR 02T 2 )
| ( Choose the correct answer )
| (5% T A Stea )
() The State List contains __ subjects. | (h) Which Article of the Indian Constitution
IfEs wiferere o1 Ry SRR w11 Cagm “ grants special autonomy to Jammu and
(Fill in the blank ) ! Kashmir?
in the blan
(18 572 o ) | SREE KR (IR SR WY
™ ‘ FrRT Rew wer wefq FfReg 2
A9/46 ( Continued ) 1

A9/46 ( Turn Over )



)

0)

-

2. Write very short answers :

(4

Objective resolution forwarded by
Pt. Nehru was adopted by Constituent
Assembly on

MRS FFR MR @ CRTER AR
SERYA e 229 FRfRe
(i) January 22, 1947
X TR, 3884
(i) February 22, 1947
QX CFFARL, 584

( Choose the correct answer )

(o Teqco! 31 Sferear )

Which Article of the Constitution
guaranteed the Right to Freedom?

SRR T et AR SRR fAfve
IRR?

oS 57 Teq e :

(a) Write any two provisions of the India

(b)

A9/46

Independence Act, 1947.
SRS FRTS Wi, s5847 R @A P19
forn

Mention two basic features of the Indian
Constitution.

SR SRR 151 o= 3B Tra 3

( Continued )

2x5=10

|
|
|

(S

(c) Write two non-federal features of the

(@

(e)

Indian Constitution.

SR R 01 SSIG CI fora o

Mention two discretionary powers of the

Governor.

RGN YoI X-ROR el Srad 941 |

Mention two freedoms guaranteed by
Article 19 of the Indian Constitution.

oo WRYFR sy S PSS w1 O

Figwo! Sead F91 |

3. Write short notes on the following (any four) :

5x4=20

wore fAPTRA eo[Fe vy Gt fordt (R e wif¥dt) -
(a) Significance of the Preamble

AV BFF

(b) Nehru Report

=¥ dferT™

(c) Constituent Assembly

ARYA o

(d) Quit India Movement

SRS O S

(e) Fundamental Duties

A9/46

cfers 6

( Turn Over )



(6)

4. Answer the following questions : 10><4=40:L

ToTS Ual 2P Ses fumn -

(a) Describe the legacies of the Freedom
Movement in the Indian political system.

SR IEHASF IIES FIATO! AT 2T~ [{E
e e F941

Or /7%

Describe the main provisions of the
Government of India Act, 1919.

3335 54 SRT PN WIFWR AYE YRPTER
TS T |

: (b) Discuss the basic objectives and ideals of

the Indian Constitution.

SRON KRG gy TR W SR
AT 34 |
Or /&1

Discuss the legislative relations between

the Centre and the State Governments
in India.

SRS (FW WEFE IW WIPHD THS 4F
RN =1 wrcee 347 1 '

A9/46 ( Continued )

e

(c)

(@

A9/46

(7)

What are the limitations of Fundamental
Rights? Can the Parliament amend
Fundamental Rights?

(e oY SRwermz & B2 o0
qfere fteR KoM FRI #A1CIC 2

Or /731

Explain the role of the Governor of
a State.

IR IR PRIT SCABA 37 |

“India is a Federal State with strong
unitarian spirit.” Discuss.

‘ol @I (PRI SRe 9w
TS1Z |7 SCeo F40 |

Or /7%

Write a note on the structure and task of
Constituent Assembly.

TRYF TR B T IRA C[© GBI B AT
01

( Turn Over )



1. Answer the following :

( 8)

OPTION—II
( International Relations )

1x10=1(

were AR e frm
(a) Write the full form of ASEAN.

(b)

(c

(d)

(e)

(9)

A9/46

ASEAN-T 5oyl Fofe1 foran |

Who authored the book, Politics Among
Nations?

Politics Among Nations ¥R e o1 2

Mention one technique of balance of
power.

HYOR SRANN 61 (EPrer Seard 91 |

Name one exponent of system analysis. |
IREF O G 2RE A o | |
When did the Korean Crisis take place?

e s ol tafeet 2 |

When was the
established?

SR R Fom t2fet 2

Write the full form of CENTO.
CENTO-3 3sjf Fiofchr fora |

League of Nations

( Continued ) |

(9]

(h) When did the Cold War end?
Meat Ta1 oo Pt 02fRe 2
() What is the main principle of collective
security?
AT FRrreR 1@ e &2
() Mention one technique to promote
National Interest.
oR 1Y TMOIIR A ¢ SZeT Tea 391 |
2. Write very short answers of the following :
_ 2x5=10
Toe AT wfS oY Tew fran -
(a) Mention two  differences between

(b)

(©

(@

(e}

A9/46

collective security and collective defence.

T faee wF RS RN TS B
CIP BCEY F90

What is a buffer State?
IFR B R—2

Name two exponents of realism.
IS [ ATS Y fon |

Define international relations.

AR oo I o |

What was the prime cause of the
Cold War?
Mo Jad 244 IG5 oifde 2

( Turn Over )



3. Write short answers (any four) :

(10 )

5x4=20

5y eq forn (R creem wif¥d) -

(@)

()

()

(@)

(e)

4. Answer the following questions :

Discuss the role of ideology in

international relations.

HEESF IS TeImfa SR SCeAo=1 41 |

What is globalization?
IR e 3 @2

Discuss the characteristics of balance of
power.

TR SR (AREPTR SICsl 41 |

Discuss the impact of Cold War in
international relations.

HRERF RS Mool Tad 2SI SCADAT 7 |

Explain the advantages of liberalism.
SO JRUFIZ I 41 |

10x4=40

were il eART e A

(@)

A9/46

What is general system theory? Discuss
Kaplan’s system analysis.

YR IRFNF ©F 3 2 FIFRR IRFIT OGO
AL 41 |

( Continued )

(b)

(c)

A9/46

(11)

Or /7%

What do you mean by collective security?
Find out the measures of collective
security taken by United Nations after
the Second World War.

TRE e e e /% R
RS RS APRE 12 T MRS Fawere

IREPTR B |

Discuss about the neo-liberalism.

T-BORM R ST 97 |
Or /9151
What is liberalism?

Discuss its
importance and demerits. ‘

TIREH A 7 TR oFg WF TR
S 9 |

Discuss the causes and consequences of
Second World War.

a8y TyEs I W R e 4 |

Or /&1

Trace the growth and development of
international relations.

TRB SooET T o RIpT S0 o 1

( Turn Over )



(12)

(d) Define National Interest. What are
. the techniques for achieving National
Interest? Explain.

WOy T S Ty | WO Y WEw ¥

CIMTET IR 7 TN <41 |
Or /7%
State and evaluate Morgenthay’s
realism. !
TOAY'T IR SGB BCaY TR Joqry 3oy
* % *
A9—60*/46 3 (Sem-3) PSC

3 (Sem-3) HIS

2018

HISTORY
( General )
[ History of India (1206-1757) ]

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

Answer the following questions in one word

1x10=10
@6l *= A 9t I

1.
| or in_one sentence each :
wore Wl 2ARARE AR e

o :
! (a) Who wrote Ain-i-Akbari?
| ZH-3-SPIN (I ol FRHA 2
‘ (b) Who was the first ruler of the Khalji
dynasty?
A IR AL IS (I SRS 2
{c) Who built the city of Siri?
R o1 ew ffir fRfRe 2
Who are the Zimmis?

EiTea W wIfRE ?

@

A9/36 ( Turn Over )



(2)

(e) Who was the greatest ruler of the

Vijayanagar kingdom?
R IR R s@ee" 9w 92

()  What does the term ‘Bhakti’ denote?
“of’ *mcor & o 2

(g9 What was the religion introduced by

Akbar?
SR A6 391 AT R wifee 2
() Who were the Amils in the Mughal
administration?
19T P 9T P (1 e 2

() Name the Sikh Guru who was executed

(3)

() What were the four categories of land in
the land revenue administration of the

Mughal?
IR Wi qeR R e Bk o ¥
w1fReT 2

(d) Name the two taxes introduced by
Shivaji.
TRRI&T SCatet 391 961 39 AW foran |

() Name the two representatives of the
English East India Company who visited
the court of Jahangir.

R IEoEC G [T WS B3

by Aurangzeb in 1675 AD. EAINR 2fSRfRT T o
Yvae O SICHE TPTe il Py e 3. Write short notes on any four of the
™ & wfRe 2 following : 5x4=20
() Who built Humayun’s tomb at Delhi? fafefe R coren 516 Ress o 5y Bt oy
58 fiffie it i PR 2
(a) Sher Shah’s land revenue reforms
2. Answer the following questions in brief : CPIRE WIS IEE ATFR
‘ 2x5=10
iR erpres wite et fm - (b) Sufism
@ gaent?::: f::lg(;_? ;zs;?lzn?r“ Battle of () Timur’s invasion of India
2% <RelT T5 A WF TR S Ao ORET SIS T
e 2 (d) Akbar’s Mansabdari System
() Name two Saints of the Bhakti o
Movement. (e) Causes of the decline of the Mughals
oS ST ORI MY T o o CHI97eT STENSY o 139

A9/36 ( Continued ) A9/36 ( Turn Over)

1



(4) 3 (Sem-3) PSY

4. Answer any four of the following questions :

10x4=40 2018
fafeRe R e w6t 2 Teg i
(@) Discuss the importance of literary PSYCHOLOGY
sources of Medieval Indian History.
TR SR e NI T g (Gsacral)
HCEATBAT 4T |

Full Marks : 80
(b) Critically discuss the financial reforms

of Alauddin Khalji. Time : 3 hours
SR qEa S R ) Ly
W@ﬁﬁs A T4 | The figures in the margin indicate full marks :
for the questions
(c) Examine the policies undertaken by i
Muhammad-bin-Tughlagq. Answer either in English or in Assamese
T - -gored MO <1 el <y |
} .. . 1. Answer the following as directed : 1x10=10
(d) Review the Mughal administration. o AT R T i
CA19faT ST XPT SIFRAYES AT 51 | i
(@) The way an individual’s genotype
(e) Review Akbar’s and Aurangzeb’s expressed in observable and measurable
religious policy. characteristics is known as
R O GG 4T A 2R F47 | (Fill in the blank)
() What were the causes and results of the
Battle of Plassey? e e Rifgeel, ™R S AR{We k9 oq
TN T TR WP eI o Wit 2 T 2PN R 4R, et cmar = |
b (et 312 =3 1)
A9—15*/36 3 (Sem-3) HIS A9/37 ({ Turn Over )




e ey

(2)

cause deviations in normal development

that can lead to serious abnormalities or
death

(Fill in the blank)
QA "s;’a R Somm R TeiRe
WW@W@W?&WWW

T cafer T et

(01 31 *F 1)

(c) DNA stands for

, (Fill in the blank)
DNA 2’9 |

(XN 31 <7 )

-{d) In the female, sex chromosomes, one

from each parent, are of a large type
de31gt1ated as __

(Fill in the blank)

IF-(TORF] [FHY [ GPOET o2 TR

AT TEF o oo 91 |
(=13 372+ =)

(e). Ability is transmitted in human body by

.
—

(Fill in the blank)

WW*@?@~ wRwe e/
MANIECEL]

(AR 3% =1 T

( Continued )

are the environmental agents that .

)

(h)

U

0)

A9/37

(3)

Chromosomes are located within the

leus of the cell.
e (Write True or False)

TNET oI (PR FeFwe AT | .
(v7 @ w7 o)

Development proceeds cephalocaudally.
(Write True or False)

Rert afémn MR <=1 <R{ee oee |
(@ 1 =g for)

In the rooting reflex, the baby moves its
head toward any light touch to its face.
(Write True or False)
FiR afScwre o, @B @R T = IR
O JRCB (AT FICe G |
(o= @ = fora)

Early childhood is known as the pre-gang
age.
& (Write True or False)
S AT AT F1e1 Jfore (FHRT = |
(7 1 wrem foran)

Growth spurt is a characteristic of the

infancy stage. o
(Write True or False)

TSR TS (SRR <51 51 |
(W% & wrun o)

( Turn Over )



.

(4)

2. Answer the followixig questions : 2x5=10

wﬁmmmﬁm:

(@) What is growth?
EERICRE R

(b) Who are identical twins?
SR T (AR ?

() How is infancy period subdivided?
R (FAT SoiReres 1 27 9

{d) Why is babyhood called ‘true foundation
age’?

Prarere R Ter R w7 et crar =1 2
(e) Why is ea.rly'_. “childhood known as
‘exploratory age’?

GO I Y ‘SeprEal TP A
[/

3. Answer any four questions from the

following : Sx4=20
Tos R e wiikSt epog T i

(a) How are development and growth
different?

Rert T 3% el 49 2

A9/37 ' ( Continued )

A9/37

(5)

(b) State the types of birth.

T APITR fordn 1

(c) Why is puberty known as the period of '

transition?

FSTEIER R RS 36 I @R = ?

(d) What -are the five prime psychological

hazards of late childhood?

CTRER AR <0 2w TR Rem
2

(e) Elaborate ‘identity crisis’ citing
theoretical evidence.
o4 omiq Trme IR ‘identity crisis’ IR
foran

( Enumerate five pertinent danger signals
of adolescent maladjustment.
(TR SIS #iio61 oPRE Rem sxceey
@) '

4. Answer any four questions from the

following : 10x4=40 .
g R core wiiker eps Bes fan
(a) Explain the conditions influencing
longevity. :
i oo 40 IR IRA A1
: ( Turn Over )



(6)

(b) Elaborate three significant hazards of
pre-natal period. Write ‘four charac-
teristics of the same period. - 6+4=10

TIRPER NG wreerfyd Rem IR Prar
«TPB! FIEC HIRGT CafBy foram |

(c) Describe the chief sensory capacities of
infants.

PRI T I FASIIN 341 41 |

(d) Discuss four emotional hazards of
babyhood.

o oiikEr sicafe Rew Scars=n 1 |

(e) Give an account of the plé.y patterns of
early childhood.

9IS IS (I YT BT SrSPT fa |

() Explain the characteristics of puberty.
e R

(9) Give a detailed description of the major
reflexes in the newborn. Cite the time of
disappearance of the reflexes.

RO A4 AR ARCW 361 o1 6%
ASTHFIFCIR S0 (AR FY e 31 )

A9/37 . ) ( Continued )

(7))

(h) Highlight the developmental tasks
proposed by Havighurst for Ilate
childhood. '

CRON IFRER IR IR Comem
RIrT NI SIS FARS F4 1. .

* %k

A9—1500/37 . 3 (Sem-3) PSY



1.

& Total No. of pripted pages = 7

08
ENVIRONMENTAL STUDIES - I
Full Marks - 40
Pass Marks — 12
' Time — Two hours

The figures in the margin mdlcate full marks
for the questions.

. Answer either in English or in Assamese.

TR SR SIS Ty ‘w41 |
Choose correct answer : o Ix5=5
A3 Sewcsl i Shvedt 2
(a) Weather and climate depends upon |
(i) Environment of that afea
iR 1% AR esie

[Turn over



. (ii) Atmospheric factors
(iii) Due to lithospheric facto;rs
T-NGTR P @IS |
@(v) All of the above. - *

SARIE FIREARTT AW

‘(b), Energy flows in-an ecosystem through .

AReegS < 2T
(1) ‘Producer o
st
(ii)A Consﬁx;let : |
Borerat |
(iii) Deéomposer'_; o
(ivy A of the aliové \

36/3 (Sem-3) ENST-I  (2)

I

(c) Threat to biodiversity due to =
Z@a whaer ofé oRR ‘a@
(i) Loss of habltat '
PRI TSR
(i) Poaching of wildlife
o T
(iif) Man and wildlife conflicts
TR I TR s @l FKAS
(iv) All of the above |
(d) Loss of natural resources dﬁe to
APfeT 7~ 3 CQHR I
(i) Greed of people
TS e
(ii)) Over exploitation
CICAC I ESLY

36/3 (Sem-3) ENSTI  (3) [Tur over



(iii) Natural and man-made disaster
oo - pE e
(iv) All of the above A
\GW AFCENRT AW
() World food problems due to
R A B . e
® Populatlon explos1on
TR R
(ii) Climate change -
(iii) Extensive. uses .ol‘ fertilizer-peéticides
TR S S T 4TS TR
(iv) All of the above .
‘GW W R |
2. Fill in the blanks:
A 5% o s

(i) Chipko movement viwas' led by ——.

1x5=5

ﬁﬂmwmﬁfiﬁ—l

.36/3(Sem-3) ENSTI  (4).

(ii) A long term weather of a partlcular place is
known as —.

(iii) Aséemblage of animals and plgmts (flora and
fauna) of a particular area; is called ——.

@3 e IR Giaers, WWW
—— QE =

(iv) The changes other than normal condltlon of
a place is called ——

amé@wmﬁasﬂﬁmﬁﬁa@as—
@ =

“) The repeatedly used energy is called —_—
9171” ?@WWWW—— @Wl’l’\ml

3. Write short notes on any two of the followmg:
| 5x2=10

oo i GO B B (R i
(@) Importance of environmental studies

ARG g el

36/3 (Sem-3) ENSTI  (5) * [Turn over



(b) Aquatic ecosystem

5. Illustrate the structure and function of an -
A ecosystem. ‘ 4+6=10
(c) Renewable and non renewable energy @S ~AREIeIR 157 W IR R <=
resources. ' | ‘

e i SRR I S
© (d) World water problém’

Or / sizat

Write ydur comments on the status of wildlife of
North-East India and their conservation strategies.

3+7=10

Ry ©e WeTT - '
' ) TeroR sigey IVATPRI Bfer R comm
(¢) Deforestation TOITS A7l Wi IR FRITI SHerhR Bl

What do you mean by biodiversity ? “Write
different types of blodlversmes with suitable
examples, ‘ + 2+8=10
o bt W R 2 ﬁf"eﬁ' SEUS AT whaeR
R W‘iﬂi {@ﬁ frn - -

Or/m‘?at

“Water is life.” —Justify the statement with
1llustrat10n ‘ . 10

“HTEZ 2R q?n” SR TSl e R
TR ol

36/3 (Sem-3) ENST-I (6)

36/3 (Sem-3) ENSTI (7). '1;20,006(“0 |




3 (Sem-3) k.

2018

EDUCATION
( General )
( Development of Education in India )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
Tore faaifienees fet wepie Ted o
(a) What is Upanayan ritual?
Tope Seppe 2

(b) In which year was the Wardha
Conference held?

T Afe @ TS SfYe (2R ?

{¢) What is the main objective of appointing
Hunter Commission?

TR Seast s 3 S R wifer 2

(d) In which year the Constitution of India
came into force?

TRET TR (I 50 IR T 02fX 2

A9/18 ( Turn Over )



(e)

(9)

n

fi)

0

A9/18

(2)

Who was the President of TUniversity
Education Commission of India’?

SRy Rufem frer saner’s serfe @@=
1fRe 2

Macaulay was interested to the Indian
literature and language.

( Write True/False )
CTRC SO ST S ROR SR SR |
( To1/ TRy fora )

Sargent Report approved basic scheme of
education.

( Write True/False )
QTS A IR Rt S T |
( >for/ ey forar )

The Mudaliar Commission made the
school education period of 12 years.

( Write True/False )
Wﬁwwaﬁmﬁmam S TR |
( so1/f=y o )

Write the name of one centre of Buddhist
Education.

T PR 961 e W o |

Write the full form of RMSA.
RMSA-T 3= (o1 fort |

( Continued )

(3)

2. Write short answers (any five) : 2x5=10
5 ey for (R e *fmbr) -
(a) What is ‘Operation Blackboard’?
SIGA GIRCIS” oM 1% 2 |

(b) Write two aims of Islamic system of
education.

S P o1 o7 e |

(c) What is ‘downward filtration theory of
education’?

“Pre g Rara A &2

(d) Mention two suggestions made by Hunter
Commission on primary education of
India.

TReS A1 Pl STICR TOR AR SRR
701~ Teay 1)

(e) Write two objectives of Sarva Shiksha
Abhiyan.

>R Sy 751 S o |

() Write the names of two central
universities of Assam.

Www@aﬁwﬁmmmﬁm

A9/18 ( Turn Over )



3. Write short notes on (any foun :

A9/18

(4)

(@@ Mention two suggestions of Ramamurti
Review Committee of 1990.

5550 53 IS RAiceoT b3 761 *Rf Srary
Ea 1N

5x4=20
5 O forar (R reent wif )

(@) Educational activities of Christian
Missionaries

AT PR e TR

(b) Causes of Anglicists and Classicists
controversy

5] I APOTe] ARPIFed RAme /4

() Secondary education policy of Lord
Curzon

TG e NRe Preer-smorF NS

(d) Recommendations of Secondary Education
Commission (1954) on curriculum
construction

ATEY AFOTITe MGRF A1 St (sves)q
SRR

( Continued )

Answer the following questions :

(S

(e) Article 45 of the Indian Constitution and
Education

et < SRON RRYFR 8¢ TR oo

(1 Open university and distance learning

& ReRmem sre 71 frea 3w

10x4=40

wore a1 iR Tee fordi

4.

A9/18

Discuss the Buddhist system of education in
terms of aims, curriculum and teaching
method. 4+3+3=10

@ PR Prer o7, e wE e o Raa
KGILTIE SN

Or/ &ed1
Write about the contribution of Wood’s
Despatch on Indian Education. 10

SOR TS ToY ARSI SR ST fordt |

Discuss about the effect of the
recommendations of Hunter Commission
regarding administration and organization of
Secondary Education of India. 10
SRS NGRT PR PP 9 TR (Fae THR
SCA9R RIS 2SR o S 341 |

( Turn Over )



(6)

Or/ 9%

State the salient features of basic education.
Analyze the strength and weakness of basic
education. S5+5=10

Tt e CARBPPRR SIeTs 41 | @ i sierer
Y el [R6R 1 |

. Write briefly about the aims of University
Education of India as suggested by the
University Education Commission (1948).
How far these suggestions are acceptable at
present context? 7+3=10

358 51 RufRwirer et ST See O% e o7y
FofCE (PR P ARGIE, SF B | 389

IS G2 SRAPRR R 2D ?
Or / q%d1

Write about the structural changes in
the system of school education as suggested
by the Indian Education Commission,
1964-66. 10

S5u8-bb b9 S Frm s R e
RIS CFAS SIRGRI [P Raca o o

A9/18 ( Continued )

A9—65*/18

(7))

7. State the measures proposed for primary and

secondary education in New Education
Policy, 1986. 5+5=10

Yoty TR TP P NS 1efie wF Tl wfEe
RPN (R 2B 22 91 (3R, 396 F90

Or / %371

Enumerate the problems of women education
in Assam. Suggest some practical measures
for solution of the problems. 6+4=10

wPS TReT PR SR Ry siwes 791 1 @)
STPTEE RGPS S A= SHIKCTRT |

* % %

3 (Sem-3) EDN



3 (Sem-3) ECO

2018

ECONOMICS
( General )

( Money, Banking and Finance )

Full Marks : 80

Time : 3 hours
The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O CPRO[R Teq o

(a) Write Fisher’s equation of the
quantity theory of money.

o frw ER cREa e A
o

(b) Write one objective of monetary
policy.

JEIRSI b1 S ot |

A9/47 { Turn Over )



(2) (3)

(c) Define capital market. () Write the cash balance equation
A T A B 1 given by Marshall.
A6 SORCERN 9% MR Nofs ARG
(d) When was the Reserve Bank of India 1 foram
i ?
established? | () Define bank.
TR ReTd @ (IS WoH T C2fee 2 :

QI AL foran |

(e) Which bank has the right to control

credit in India? 2. Answer the following questions : 2x5=10

SRee 4 FREH IRIR @EG QT ToR PP e fre
RiORaL 3935" (a) Write two functions of a central
, bank.
D heory o e yctep com e o B
A vE qEee MET @A oS (b) Write two objectives of credit control.
AALCE 49 fRager 751 S o o

(g) What is Sensex? (c) What is bank rate?

‘oo R 2 : S RS
(d) Mention two assumptions of
(h) What is meant by velocity of Fisherian equation of exchange.
circulation of money?
o e R e B e B |
U efve frerel gfeicat 6 g 2

A9/47 ( Continued ) A9/47 ( Turn Over )



A9/47

(4)

() What are the main constituents of
the financial system?

R 3rewR 7 wrTR & 52

- Answer any four of the following
questions :

o eppryRd R e vkt e o

(a) What are the similarities between
cash transaction and cash balance
approach to the quantity theory of
money?

TR AR TG T G SF oW R
iof Tor SIPTTR I 1 |

(b) Write the differences between central
bank and commercial bank.

IR AT IF AMEE @ ez
o

(c) Write briefly about the Balance
Sheet of a commercial bank.

AT @ W weeR R siw
foran

5x4=20

( Continued )

(d)

(e)

(5)

Briefly discuss the  various
components of a financial system.

R IrER Riew Somerme 3w wpis
forn 1

Write a short note on stock market.
3% JRT 89T <ol 5 GBI o |

What are the characteristics of
a business cycle?

qifen 5 IFRPTR R %2

4. Answer any four of the following

questions :

10x4=40

oo opiyed R @ iR Te for

(@)

(b)

A9/47

Discuss the Cambridge approach to
the quantity theory of money.

cfee fmn U AR oG oA AN
0

What is business cycle? Discuss its
various phases.

A vE I T2 WA Ren ’wEz
AL F4 |

( Turn Over )



(c)

(d)

(e)

(9)

A9/47

(6)

Explain the monetary theory of trade
cycle.

e 5 J@Iere gh! JWIR s |

Discuss briefly the various functions
of a commercial bank.

A @9 ffen TR T D
ol

Discuss the assets and liabilities of
a commercial bank.

e REY -SR] RIE =IcEmw=
el

Write the meaning of financial
system. Discuss its functions.

R8T TwEm W Bl TR wReTR
GG 41 |

Explain the meaning of money
market. Discuss its objectives.

W R w R WR SR
ST 30 1

( Continued )

(7)

(h) Explain the objectives of monetary
policy in a developing country like
India.
SRS WA TR (TS [WANST THIAR
HICADA 91 1
* % %
A9—18*/47 3 (Sem-3) ECO



3 (Sem-3) PHL
2018

PHILOSOPHY
" ( General )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

©oS frarareR e Tes fra

(a) The term ‘epistemology’ is derived from
Greek words ‘episteme’ and ‘logos’.
( Write True or False )

‘SHRI *R6l AT ST ‘episteme’ HF
“logos’ *R49 °[1 SRCE |
( 351 & foig foran )

(b) How many main branches are there in
Philosophy?

T o i A 1 @R 4R 2
A9/48 ( Turn Over )



(c)

(d)

(e)

17

A9/48

(2)

Thales was the Father of Philosophy.
( Write True or False )

(YT} T T SHIfeE |
(3ot ¢ fomg foran )

Science studies particular sections of the

world separately.
( Write True or False )

R wres Az I 93T I3
YRS FI |
( 361 & famy foran )

Name the philosopher who is associated
with ‘dialectical method’.

Wﬂﬁ%’?ﬁ%'ﬁ@'@wmﬁ
aw fa

Axiology studies the problem of (reality/
knowledge/value).
( Choose the correct option )

¥ RaiR (Srel/@m /)3 TP SREe
AN
( wm Reseor AR Sforear )

( Continued )

(g

(h)

(1)

G)

A9/48

(3)

Who is regarded as an advocate of
scientific realism?

I IBRME 26T Bt I Tl
T2

Locke divided the quality into two kinds.
( Write True or False )

TWE QPRT R e e R |
(31 ¢ Ry o )

Spinoza was a rationalist.
( Write True or False )

Poorn o LR TR |
( 351 1 i o )

Truth, goodness and beauty are the

subjects of ____.
( Fill in the blank )

o1, fe orF R T Rz |
(AR IR @I )

( Turn Over )



(4) (S5)

‘2. Answer the following in brief : 2x5=10 3. Write notes on any four of the following :

Tore TRACIRT o Beq e 5x4=20
(a) What do you mean by Philosophy? 2 oo AT R e wiReR eore Gt fora :

i 3fercer 3 g 2 (a) Scope of Philosophy

™1 PR
b fine i ) ith . )
(b) Dg ine innate 1d{cas with examples. 1+1=2 (b) Philosophy and Science
GIE |
THERPTR, SIS IR ige] fran ot 7

(c) Briefly express any two criticisms against (c) Scientific Realism

naive realism. 1+1=2 TEF IBIRAM

@ IWRME [eem R (@A 761 W= (d) Characteristics of Naive realism

ST oM 0

: e IR (AFE
(d) What is meant by secondary qualities? (e) Esse est percipi

Give an example. 1+1=2 oSS 38 B

¢t et Jforea 6 g 2 61 Tt foar o

4. Answer any four of the following : 10x4=40

(¢) Briefly mention any two differences woe RO R @I sikeR S fra -

between naive realism and scientific _

realism. 9 (a) Define philosophy. Briefly discuss the

different branches of philosophy. 4+6=10

g wigen fudl | iR Rfew =R o
SICAGA 7 |

e ABRM AT ([(S@F IABEAMI S
1 R I 7o1 N4 53 oA 741 |

A9/48 ( Continued ) A9/48 ( Turn Over )



(6) | (7)

(b) Discuss empiricism as a theory of the (f) Is axiology an important branch of
origin of knowledge. 10 Philosophy? What kinds of ideals are
’ prescribed by axiology to human life?
e S TR SfSWeRM  TOIMCH! 2.8-10
Hears 40 |

7= R iR a6 gFged Rewe? 0
iR T SR WA (FERR R

(c) What is realism? What are the R T2
characteristics of realism? 4+6=10
IARA 5 7 IBAME (BP9 s

(d) What is objective idealism of Hegel?
Explain the salient features of objective
idealism. 4+6=10

@R TP SI[AM 2 IS SI@ATR

oY1 CIMBPIR T F9 |

(e) Explain and examine the difference
between primary quality and secondary
quality. ) 10

T OF (N QR &S AT WA AF
R 1

A9/48 ( Continued ) A9—25*/48 3 (Sem-3) PHL
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2018

SANSKRIT
( General )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
) Jor the questions

Answer either in English or in Assamese or
in Sanskrit

1. Answer the following questidns in brief : 1%5< 5

(a) How many Cantos are there. in the
“PARERTH?
TR SITS RII01 77of wi1eg 2
(b) Who is the author of the “HgugRY’?
r ‘YPIRIIR o @1 2 -

(c) In which place the “TNREEN  was
composed?

FErSIHA 4 3 51 71 2R 2
A9/26 ( Turn Over )



(2)

(d) “refogrmad Ty
Where the city TRfgT is situated?
ORI TR IS TS 2

(e) How many 3N&s are there in a KL of the

YSFEE metre? .
SRS’ w«ﬂﬁmﬁmﬁwmv

Answer the following questions :, 2x5=10

OIS PR T ford

(a) What is the subject-matter of the Tﬂﬁ'ﬂ 2.
IR Ree R 2

(b} Fill in the blanks :
L THAWE___|
o fa T fRrafa 1
(c) *vg e gai T’
What are those six types of happmcss
referred to here?

e Tra 9 = o9 W ﬁs ?

(d) Give the definition of ‘FIRGIT metre.
TRy’ T e fi |

(e) What is TR
‘gl 2

A9/26 : ( Continued )

(3) o

(a) Write a note on the ‘BRI’ of 9. 10
TN Rt ‘FreoieRey 18471 soige ot G

fori 1
Or / &3r
(b) Give an introduction to the Sanskrit lyrical

poetry.
RS MEIRPIRT «fb 1y 7ife 4 |

Wirite a short note on any one of the following: 5

ol R I GBI SoITS 5 GBI fond

Ffee, Yveefa, wieRay)

Account for the case-endings of the underlined
words of the following : 1x5=5

Wmm{«ﬁs%ﬁcﬁw
(2) &= |

(b) T A T

(c) T @

(d) iﬁﬁﬁwzﬁl

(e) AW i |

A9/26 ( Turn Over )



(4)

6. Explain the following Sitras (any two) : 10
Sorq R cpie Bt 3@ e <4

(a)
(b)
(c)
(d)

7. (a)

(b)

FgifRaad Fd
gt woRn
JIIRSTEFY
IYTISTERIR]
Give a short introduction to ‘fEenr, - 10
‘faere’s 8o ft Mg «Rex SsRCeRT |
Or / 91
Present in your own words the story of the

old vulture named XM, adding the ethical
lesson of the story.

wﬂawww@mwﬁ-mmw—lw
ot o1 TS o T (e e Sear

Ll

8. Explain any one of the following : 5
oot fRar R e @bt e 0t 9 ¢

(a)
(b)

A9/26

srermRaeTRT franed T (R
T ¥ G I AR

FaH it @ T T qEmEEan
THHEEA & T T arReensi 1)

( Continued )

9.

10.

A9/26

(5)

Define and illustrate any two of the following
metres :

were fran R I Wit & vigwares (et 369 -
(a) T
(b) TR
(c) TEfdoH

Translate into Sanskrit :

PO ] QI

(a) One should acquire knowledge in
childhood. Value education should be

provided in this age also.

CTRIFICS I ot @ ooy 341 B |
GRS TS Frvre foar B |

(b) Arjuna was an expert warrior. Sri Krsna was’
his beloved friend.

wﬁuﬂmwmwﬁﬁlﬁww@ﬁm'
forr s1ar

(c) Sankaradeva is a great Vaisnava saint of
India. He wrote many books.
*RIAC SREIY] o oifim (A &F | (06
IR R o1 PR | -

5x2=10

( Turn Over )



(6)

(d) Sanskrit Day is celebrated in the Sravani
Purnima. Do you know to sing a Sanskrit
song?

AR e Fege i TSm0 w1 o
| IREFS AS SR A ?

(e) Returning from his school, Kavindra takes
his meal. He likes fish.

R o1 Tofe oifd, Faw2 SR o249 | |
(oS TI% O A |
* &k
A9—2000/26 3 (Sem-3) SAN

3 (Sem-3) SOC
2018

SOCIOLOGY
( General )

( Concepts and Approaches in Sociology )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate Jull marks
for the questions

Answer either in English or in Assamese

1. Choose the correct options :

1x10=10
W ResR IR Shea :

(a) The book, Caste and Race in India is
written by

Caste and Race in India 5231 free '
() Dipankar Gupta / NI Sa

(i) G. S. Ghurye / f&. @b. Y1
(iii) B. K. Nagla / R. &. Tom
(iv) Yogendra Singh / Qe R

A9/6 ( Turn Over )



(2)
b)) ____ is ‘associated with  social
Darwinism.
AR TRETRTE TS WS |

(i) Auguste Comte / S8 35
(i) V. Pareto / . ¢TI
(i) Karl Marx / el wsf
o (iv) Herbert Spencer / 6 AP

() The word ‘secularism’ was added in
the Indian Constitution by

Amendment.
o TRYW FeNEAS “of-PIcerwer’
O TS N (2 |

() 42nd / 8yeH
(i) 44th / 8soq
(iii) 78th [/ vy
(iv) 82nd / vS¥

R

(d) The concept of folkways’ and ‘mores
were put forward by

RPN’ S SRS’ YIATCH SRR
‘(i) Reuter and Hart / o wIF b
(i) Robert Merton / F310 Wb~

(i) W. G. Sumner / Sf®. & FR
(iv) None of them / €S &€ T

’

a9/6 o ( Continued )

(3)

(e) The book, The Origin of the Family, Private
Property and the State, is written by

' The Origin of the Family, Private
Property and the State 5% forge 25
() Friedrich Engels /| &oRs qwaeg
(i) Karl Marx / %f w5
(i) Max Weber / (78 RJR
() K. Davis / 3. Cofob

() Article 15 of the Indian Constitution
states that

RO SRRLFT SR SR TP

(i) protection of life and . personal
liberty
Gl W oS FRTOR e[e ©
(ii)  right to educatlon .
o SR

(iij) prohibition of discrimination on
grounds of religion, race, caste, sex
or place of birth

wf, wIfS, 3o, Prt == wrEEE RO

ofs sk 731 31 eore WA
(iv) equality before law
HiHR S[S AN
A9/6 ( Turn Over )



(4) | : (5)

(g) is not a minority group in India. | G) is an example of open system of
SRS GBI R coi®t = | stratification. |
0] h:usum/q%m@ | — X7 TE QIR o1 TR |
(@ Sikh / P - | (i) Caste / SfS
(i) Gujjar | TR : (i) Class / &F
(iv) Buddhist / (% wficed ' (i) Estate / $-77If%

(iv) Race / 3o
(h) Herbert Spencer was born in

TG CFpIRS o 2R
(). England / 39S

2. Write short answers for the following : 2x5=10

@ere AR 90T Ter for
(i) France [/ Fi¥© |
(i) Germany / SHfiSie : (a) What is exogamy?
(iv) Australia / SEfRIS IRRaz 2
() Father-son relationship is an example of (b) What is diffusion?
ﬁ@-ﬂq’fmﬁ«ﬂﬁ"@ﬂﬂ‘t‘i’ﬁ ARt R 2 |
@ primary kinship ‘ {c) Write two functions of marriage.
2R e TR 1 T B o
(ii) secondary kinship :
o W' (d) Define evolution.
: Radaz et faan
(i) tertiary kinship | A
TS FEE - . (e) Write the differences between folkways
(iv) None of the above and mores.
ST B1e e CATO F THANST AT “LFFTR Bra |

A9/6 ( Continued ) A9/6 ( Turn Over )
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3. Write short notes on any four of the

following :

5x4=20

oot fial R e SiRGR 5 GOt fora

(@)
(b)
| (c)
(d)
(e)

o

Types of marriages

R oA

Religion in 21st Century

e fee s

Gender as a form of social stratification
TR SRR e oot Bk 2
Evolution ' |
Rega

Ethnocentrism

TR TP

Rights of disable pebple

Remere e SR

4. Answer any four of the following questions :

10x4=40

Wﬁmmmwm:

(a)

A9/6

What is culture? What do you
understand by totalist and idealist
perspectives of culture? 4+6=10

AP 7 PR Feopforam o wefare
7B Ifercar B g, foran

( Continued )

(b)

(7)

“Equality among diversity.” Discuss the
statement reflecting on the cultural
diversity of India.

“Riteer T @917 =91 W
whaer =frhe IR T SRewd wCammT

A

().

Do you believe positive discrimination is
necessary to uplift the Scheduled

Castes? Justify your answer with pi'oper
examples.

(d)

(e)

A9/6

gEETE I SRR ? T THRAFR (ONE
TET® 0w S R |

What do you understand by minority?
Discuss the status of minority groups in

the present socio-political context of
India. ) 4+6=10

ey e o R og@me sRew W

AP TEATST PP TRYETPTEe TaT
R SIICeTs= 3910 1

Discuss the different factors of social
change.

T ~fRed Rfsn wsem R weaman
M

( Turn Over )



(8) | : 3 (Sem-3) TTM (VOC)

( What do you understand by the term

‘globalization’? Explain the consequences ; 2018

of globalization on- society. 5+5=10 ) , o _
‘eI 2o BN & @2 TR eoe TOURISM AND TRAVEL MANAGEMENT
CIARIFIR FoTA =90 J0 30 | ‘

( Vocational )

(g) “Religion is the opium of the masses.” ‘ :
Elucidate the statement. ( Tourism Policy, Planning and Development )
“gfy T wEIRR IR 7 SR R .

Full Marks : 40
T

_ Time : 2 hours
(h) Critically examine the changing nature

of marriage system in contemporary . The figures in the margin indicate full marks
society. ’ for the questions
eSS ere R I o AResenz Answer either in English or.in Assamese
TR 900 |
1. Discuss about the Tourism Policy of Assam
, adopted in 2008. 10
* % Yo0b 59 I FI SR Ko eI Ry seansen
¥
Or / o<t

Define planning in tourism and write down its
different approaches.

of3et AR TRl oA o T R v R
foram .

A9—1000/6 '3 (Sem-3) SOC ~ Ad/s3 ( Turn Over )



(2) o ' (3)

2. Explain the main strategies and objectives of (c) Discuss the importance of the homestay

National Action Plan for Tourism (NAPT), concept in rural tourism destination.
1992. | : 10 . Sy oRfe A ‘ows’ wﬁwmw
National Action Plan for Tourism, 1992 I 0 90|
FRIRAR S SRR I 1 |

Or / o * ok k

Discuss about the plans and policies of
Government of India for the development of

tourism. . 10 -
o TRET IR 229 I SRS FIFER ﬁﬁs e
ARFETR RS S 397 |

3. Answer any two of the following : 10x2=20
worq R e ot oS Teq for

(a) Explain the important planning
approaches for an ecotourism
destination of Assam.

T OF ARERE /o TR IR RS
TR SFI I I |

(b)) Explain the impacts of unplanned
tourism development.

wﬁaﬁ@mﬁmmﬁs%mm,w
1
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